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1. —REHEEMKEBEDERLL

(1) FR2SFEETH (440

K g

K T R # ¥ pk te b T A H pi b
1. &% & % 405,0711FH 0.3 | 9. BFi # 819,43§FH 0.6
2. % B # 5, 159, 062 3.8 ||10. # &H # 6, 795, 090 5.0
3. R £ & 52, 506, 067 38.5 || 11. REHEIHE — —
4. @ £ B 8, 790, 224 6.5 ||12. & f# % 14, 284, 098 10.5
5. % B % 105, 893 0.1 || 13. 58 X i & 5, 649, 044 4.1
6. BMNKESR 719, 685 0.5 |[14. ik B #& 17, 264, 597 12.7
7. L & 12, 276, 452 9.0 |[15. T fiF % 100, 000 0.1
8. £ K % 11, 350, 279 8.3 | & | 136,270,000 100. 0
(2) FR29FEE TR (40)

K T A Akt > T B i b
1. % = # 403’285@ 0.3 ||9. H B % 694,581m 0.5
2. % B # 5, 306, 081 3.9 ||10. # F # 8, 027, 688 5.9
3. R A& # 52, 094, 092 38.0 || 11. KFEEIHE - -
4. 1 £ B 8, 821, 982 6.4 ||12. & & & 14, 123, 677 10. 3
5. 9 B % 146, 436 0.1 || 13. 5% 3 th & 7,028, 612 5.1
6. BMKER 741, 816 0.5 |14. W B % 17, 415, 827 12.7
7.8 L % 11,336,176 8.3 |15. T fw # 100, 000 0.1
8. - K # 10, 879, 749 7.9 | & S 137, 120, 000 100. 0




2. RMKEZDREAL

R ER28HEEE (4)) RS2 EE (H47)
FHH a0 wmw | vme | oo
e L
e % = %
— % £ FF A | 136,270,000 | 98.3 137, 120, 000 | 100. 6
J&: BROK PE # B 719,685 | 99.7 o.og B/A 741,816 | 103.1 0.2 B/A
Bk & C 208,134 [107.1| 28.9| C/B 199,152 | 95.7| 26.8| C/B
RHEZERED 12,349 | 99.8| 5.9|D/C 12,413 [100.5| 6.2 D/C
BRI E 16,758 | 105.5| 8.1| E/C 18,960 |113.1| 9.5| E/C
R F 96,105 | 141.2| 46.2 | F/C 87,708 | 91.3| 44.1| F/C
| 82,922 | 84.6| 39.8| H/C 80,071 | 96.6 | 40.2| H/C
KoOE I 350,551 |102.7| 48.7| 1/B 345,664 | 98.6| 46.6| 1/B
KEER G 2 ] 17,810 | 96.3| 5.1] J/1 17,027 | 95.6 | 4.9| J/1
K PE R B 2 K 272,263 |108.3| 77.7| K/ 1 282,339 |103.7| 81.7| K/ 1
s PR L 7,499 | 99.5| 2.1|L/1 7,579 |101.1| 2.2|L/1
T V% R i 2 M 52,979 | 83.1| 15.1|M/1 38,719 | 73.1| 11.2|M/1
ii jlg” ’j; 161,000 | 86.6| 22.4 | N/B 197,000 | 122.4| 26.6 | N/B




3. AHFEHIEEEFISE
(1) Fpk28 « 294F FE Bl da s X Ol &40
Ok EEY 7 e

o Rk 284F i SRR 294F B
o - % (4 #]) (4 #])
B o % & 32,144 ¢ 30,854 t
B W & % 17,208,527 FM 17,083,987 FM
H R HIE T
S 3 SRR 284F B SRR 294F
i - &% (4 #]) (4 1)
B # % = 45,218 t 44,9263 t
B & # 10, 645,117 M 10, 406, 192 M
(2) FRk28 « 295 FE % Ak i T3
% A % H
SRR 284 BE SRR 294F BE SRR 284F SRR 294F
B g (4 1) (4 1) B H (4 ) (4 #1)
4 K |KMERRIE| & %8 | MRk A KA |KMERRIE| & %8 | ARk
s N T % i % TH % FH %
e f*ZQ'E? 179,876| 40.6| 139,425 34.2| W& #H & | 309,213 71.3| 295,946| 70.3
T KK
M OE I A 3,904 0.9 3, 787 0.9l 2 f& | 89,966| 20.7| 90,015| 21.4
¥ AN 4| 161,000 41.9| 197,000 48.3|| Kk & # 32, 321 7.4| 32,539 7.7
oo & 1 0.0 1 0.0| T 1w % 2, 500 0.6 2, 500 0.6
z v Al 69,219| 16.6| 67,787| 16.6 ///
il &l 20,000 13, 000 ]
s | 434, 000| 100.0| 421,000( 100.0| & | 434,000 100.0| 421,000| 100.0






